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QUESTION 1

A customer uses TrueCopy on a database and has a disaster at the primary site. Failover to the secondary site has
occurred. What are two methods to help with the recovery? (Choose two.)

A. Use the pairsplit -E command.
B. Use the pairsplit -S command.
C. Use the horctakeover -S command.
D. Use the horctakeover -G command.

Correct Answer: BC

QUESTION 2

What are three key points the customer must respect when establishing a Three Data Center (3DC) Business Continuity
Solution with Universal Storage Platform (USP) systems? (Choose three.)

A. The customer must have the three USPs connected to separate hosts.

B. The customer must define Journal Groups in terms of performance and size.

C. The customer must decide which Consistency Groups to set up including their size.

D. The customer must upgrade shared memory on the USPs to support Journal Groups
E. The customer must quantify the write 1/0 workload to be replicated by the primary USP.

Correct Answer: BCE

QUESTION 3

A customer would like to automate the mounting of suspended Shadowlmage secondary volumes in a Windows CClI
script. Which CCI command would be used to assign a volume to a Windows drive letter?

A. raidscan -x mount
B. raidscan -m mount
C. raidmount -x mount
D. raidmount -m mount

Correct Answer: A

QUESTION 4
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On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column indicates PDUB. What is the status
of the pairs indicating PDUB?

A. This is a TrueCopy LUSE status of a pair suspended error.

B. This status indicates that the TrueCopy pair is in the initial copy.

C. One or more LDEYV pairs are SMPL on a TrueCopy LUSE volume.

D. The status of the TrueCopy software LUSE volume is in the initial copy.

Correct Answer: C

QUESTION 5

A customer is buying an Hitachi Storage Cluster (HSC) for Microsoft Environments for the purpose of having a long
distance cluster. Which two factors should be considered for the configuration? (Choose two.)

A. IP addresses must be static and bi-directional.

B. IP addresses must be mobile and bi-directional.

C. Network latency must not be longer than 100 milliseconds.
D. Network latency must not be longer than 500 milliseconds.

Correct Answer: BD
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